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Part | Listening Comprehension (20% 20 minutes)

Settion A
Directions: In this section, you will hear 10 short conversations. At the end of each
conversation , a question will be asked about what was said. Both the conversation and the
question will be spoken only once. A fter each question there will be a pause. During the
pause , you must read the four choices marked A), B), C), and D), and decide which is
the best answer.
( )1. A) See a doctor.

B) Stay in bed for a few days.

C) Get treatment in a better hospital.

D) Make a phone call to the doctor.
( )2. A) The 2 : 00 train will arrive earlier.

B) The 2 : 30 train has a dining car.

C) The woman prefers to take the 2 : 30 train.

D) They are going to have some fast food on the train.
( )3. A) She has been longing to attend Harvard University.

B) She’ll consider the man’s suggestion carefully.

C) She has finished her project with Dr. Garcia’s help.

D) She’ll consult Dr. Garcia about entering graduate school.
( )4. A) Alice didn’t seem to be nervous during her speech.

B) Alice needs more training in making public speeches,

C) The man can hardly understand Alice’s presentation.

D) The man didn’t think highly of Alice’s presentation.
( )5. A) It’s worse than 30 years ago.

B) It remains almost the same as before.
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C) There are more extremes in the weather.

D) There has been a significant rise in temperature,

( )6. A) At a publishing house. B) At a bookstore.
C) In a reading room. D) In Prof. Jordan’s office.
( )7. A) The man can stay in her brother’s apartment.

B) Her brother can help the man find a cheaper hotel.
C) Her brother can find an apartment for the man.
D) The man should have booked a less expensive hotel.
( )8. A) Priority should be given to listening.
B) It’s most helpful to read English newspapers every day.
C) It’s more effective to combine listening with reading.
D) Reading should come before listening.
( )9. A) It can help solve complex problems.
B) It will most likely prove ineffective.
C) It is a new weapon against terrorists.
D) It will help detect all kinds of liars.
( )10. A) Help the company recruit graduate students.
B) Visit the electronics company next week.
C) Get a part-time job on campus before graduation.

D) Apply for a job in the electronics company.

tion B

Directions: In this section, you will hear 3 short passages. At the end of each , some
questions will be asked about what was said. Both the passages and the questions will be
spoken only once. A fter each question there will be a pause. During the pause, you must
read the four choices marked A), B), C), and D), and decide which is the best answer.
Passage One )

Questions 11 to 13 are based on the passage you have just heard.
( )11. A) It has been proven to be the best pain-killer.

B) It is a possible cure for heart disease.

C) Tt can help lower high body temperature effectively.

D) It reduces the chance of death for heart surgery patients.
( )12. A) It keeps blood vessels from being blocked.

B) Tt speeds up their recovery after surgery.

©) It increases the blood flow to the heart.

D) It adjusts their blood pressure.,



( )13. A) It is harmful to heart surgery patients with stomach bleeding.
B) It should not be taken by heart surgery patients before the operation.
C) It will have considerable side effects if taken in large doses.

D) It should not be given to patients immediately after the operation.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
( )14. A) They strongly believe in family rules.
B) They are very likely to succeed in life.
C) They tend to take responsibility for themselves.
D) They are in the habit of obeying their parents.
( )15. A) They grow up to be funny and charming.
B) They often have a poor sense of direction,
C) They get less attention from their parents.
D) They tend to be smart and strong-willed.
( )16. A) They usually don’t follow family r}lles.
B) They don’t like to take chances in their lives.
C) They are less likely to be successful in life.
D) They tend to believe in their parents’ ideas.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
( )17. A) They wanted to follow his example.
B) They fully supported his undertaking.
C) They were puzzled by his decision.
D) They were afraid he wasn’t fully prepared.
( )18. A) It is more exciting than space travel.
B) It is much cheaper than space travel.
C) It is much safer than space travel.
D) It is less time-consuming than space travel.
( )19. A) They both attract scientists’ attention.
B) They can both be quite challenging.
C) They are both thought-provoking.
D) They may both lead to surprising findings.
( )20. A) To show how simple the mechanical aids for diving can be.
B) To provide an excuse for his changeable character.
C) To explore the philosophical issues of space travel.

D) To explain why he took up underwater exploration.



Part Il Cloze (10% 15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are
four choices marked A), B), C) and D). Choose the ONE that best fits into the passage.

Many theories concerning the causes of juvenile delinquency (crimes committed by
young people) focus either on the individual or on society as the major contributing
influence. Theories 21  on the individual suggest that children engage in criminal
behavior 22  they were not sufficiently penalized for previous misdeeds or that they
have learned criminal behavior through 23  with others. Theories focusing on the role
of society suggest that children commit crimes in 24  to their failure to rise above their
socioeconomic status, 25  as a rejection of middle-class values.

Most theories of juvenile delinquency have focused on children from disadvantaged
families, 26  the fact that children from wealthy homes also commit crimes. The latter
may commit crimes _ 27 lack of adequate parental control. All theories, however, are
tentative and are 28  to criticism.

Changes in the social structure may indirectly 29  juvenile crime rates. For
example, changes in the economy that 30 to fewer job opportunities for youth and
rising unemployment 31  make gainful employment increasingly difficult to obtain.
The resulting discontent may in 32  lead more youths into criminal behavior.

Families have also 33  changes these years. More families consist of one parent
households or two working parents; 34 , children are likely to have less supervision at
home 35 was common in the traditional family 36 . This lack of parental
supervision is thought to be an influence on juvenile crime rates.

Other 37  causes of offensive acts include frustration or failure in school, the
increased 38  of drugs and alcohol, and the growing 39  of child abuse and child
neglect. All these conditions tend to increase the probability of a child committing a

criminal act, 40 a direct causal relationship has not yet been established.

( )21. A) acting B) relying C) centering D) cementing

( )22. A) before B) unless C) until D) because

( )23. A) interaction B) assimilation C) cooperation D) consultation
( )24. A) return B) reply C) reference D) response

( )25. A) or B) but rather C) but D) or else

( )26. A) considering B) ignoring C) highlighting D) discarding

( )27. A) on B) in C) for D) with

( )28. A) immune B) resistant C) sensitive D) subject
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)40.

A) provided

B) since

C) although

)29. A) affect B) reduce C) check D) reflect

)30. A) point B) lead C) come D) amount
)31. A) in general B) on average C) by contrast D) at length
)32. A) case B) short C) turn D) essence
)33. A) survived B) noticed C) undertaken D) experienced

)34. A) contrarily B) consequently C) simultaneously D) similarly
)35. A) than B) that C) which D) as

)36. A) system B) structure C) concept D) heritage
)37. A) assessable B) identifiable C) negligible D) incredible
)38. A) expense B) restriction C) allocation D) availability
)39. A) incidence B) awareness C) exposure D) popularity

D) supposing

Part Il Reading Comprehension (40% 40 minutes)

Directions: There are 4 reading passages in this part. Each passage is followed by
some questions. For each question there are four suggested answers marked A), B), C)
and D). Choose the best answer.

Passage One
Questions 41 to 45 are based on the following passage.

Long before the arrival of Europeans on the Canadian prairie, people lived in a harmonious
relationship with their natural surroundings. The most important characteristic about them is that
every item of their culture, from sewing needles to homes was obtained from nature. Their
homes were called teepees and were like large tents made from the skins of deer. These people—
tribes with names like the Blackfoot, the Peigan and the Blood people—were nomadic, which
means that they traveled from place to place following the animals they hunted or the growth of
the berries and fruits on the bushes and trees,

They had horses, although horses came to North America after escaping from the
Spanish explorers who brought them here to explore the areas around Mexico and Texas.
Boys and girls were both expert riders. They did not use saddles or reins or stirrups; they
rode “bareback”. Their clothes were made from deer skins and buffalo skins and decorated
with the parts of other animals—tails from squirrels and gophers (#1E), quills (Hl) from
porcupines (Z£3%) and the delicate bones of birds.

These children of nature did not ever have to go to school. They did not have to study
to get into a prestigious college, nor did they have to worry about finding a job after

graduation. This does not mean their life was easy. The winters were very long and very



cold and there were sometimes wars between tribes. There were also the very great
dangers involved in the buffalo hunt. Warriors rode at top speed (with no saddles) beside
the huge buffalo shooting arrows to bring them down. The chances of a buffalo turning
suddenly or of falling off the horse were very great. We must remember that there were
also no hospitals those days.

Even so, the young people of the tribes must have enjoyed a very pleasant lifestyle: fishing
and gathering berries in summer, hunting in the forests in the early morning, dancing around the
fire at night and listening to the old people tell stories and legends from long ago.

( )41. Which of the following statements best characterizes early inhabitants of the
Canadian prairie?
A) They derived a lot of useful things from the nature.
B) They only ate berries, fruits on the bushes and trees.
C) They were nomadic tribes from Europe.

D) They had to hunt a lot of animals for a living.

( )42, From whom did the early tribes get horses?

A) North Americans. B) The Mexicans.

C) Texas people. D) Spanish explorers.
( )43. It can be inferred from the second paragraph that

A) Spanish explorers taught children how to ride horses
B) people depended a lot on animals for their decorations
C) almost all the horses of the tribe were bareback
D) many people rode horses to explore the areas around Mexico and Texas
( )44, The third passage tells us that
A) young people of the tribe found their lives too difficult
B) people died in long and cold winters
C) great dangers would happen to these people in hunting
D) the chances of wars between tribes were great
( )45. The author’s purpose in writing this passage is to
A) describe the tough life of young people of the tribe
B) show the early settlers’ maltreatment (JEf#) of animals
C) present the wild life of early tribes in Canadian prairie

D) introduce Canadian people’s conquest of the nature

Passage Two
Questions 46 to 50 are based on the following passage.

The Norwegian Government is doing its best to keep the growth of the oil industry
under control. A new law limits exploration to an area south of the southern end of the

long coastline: production limits have been laid down (though these have already been



raised) ; and oil companies have not been allowed to employ more than a limited number of
foreign workers. But the oil industry has a way of getting over such problems, and few
people believe that the Government will be able to hold things back for long. As one
Norwegian politician said last week, “We will soon be changed beyond all recognition. ”

Ever since the war, the Government has been carrying out a program of development
in the area north of the Arctic Circle. During the past few years this program has had a
great deal of success: Tromso has been built up into a local capital with a university, a
large hospital and a healthy industry. But the oil industry has already started to draw
people south, and within a few years the whole northern policy could be in ruins.

The effects of the development of the oil industry would not be limited to the north,
however. With nearly 100-percent employment, everyone can see a situation developing in
which the service industries and the tourist industry will lose most of their workers to the
oil industry. Some smaller industries might ever disappear altogether when it becomes
cheaper to buy goods from abroad.

The real argument over oil is its threat to the Norwegian way of life. Farmers and
fishermen do not make up the majority of the population but they are an important part of
it because Norwegians see in them many of the qualities that they regard with pride as
essentially Norwegian. And it is the farmers and the fishermen who are most critical of the
oil industry because of the damage that it might cause to the countryside and to the sea.

( )46. The Norwegian Government would prefer the oil industry to
A) slow down its rate of development
B) provide more jobs to Norwegians
O look for oil on the southern coast
D) develop more quickly than at present
( )47. What has the Norwegian Government’s policy been for the area north of the
Arctic Circle since the war?
A) To prevent a growth in population.
B) To improve facilities in the area.
C) To develop a large tourist industry.
D) To discourage industrial development.
( )48. What might be the effect of the oil industry on northern Norway?
A) The development of industry.
B) A growth in population.
C) The failure of the development program.
D) The development of new towns.
( )49, In Norway, one effect of the development of the oil industry might be
A) a large reduction in unemployment

B) an increase in unemployment in the north



C) a reduction in the number of existing industries

D) the development of a number of service industries
( )50. Why are Norwegian farmers and fishermen important?

A) The economy depends on agriculture and fishing.

B) They form the majority of the population.

C) They are thought of as the real Norwegians.

D) They are responsible for preventing pollution.

Passage Three
Questions 51 to 55 are based on the following passage.

British universities, groaning under the burden of a huge increase in student numbers, are
warning that the tradition of a free education is at risk. The universities have threatened to
impose an admission fee on students to plug a gap in revenue if the government does not act to
improve their finances and scrap some public spending cutbacks.

The government responded to the universities’ threat by setting up the most fundamental
review of higher education for a generation, under a non-party troubleshooter, Sir Ron Dearing.

One in three school-leavers enters higher education, five times the number when the
last review took place thirty years ago.

Everyone agrees a system that is feeling the strain after rapid expansion needs a lot
more money—but there is little hope of getting it from the taxpayer and not much scope
for attracting more finance from business.

Most colleges believe students should contribute to tuition costs, something that is
common elsewhere in the world but would mark a revolutionary change in Britain.
Universities want the government to introduce a loan scheme for tuition fees and have
suspended their own threatened action for now. They await Dearing’s advice, hoping it
will not be too late—some are already reported to be in financial difficulty.

As the century nears its end, the whole concept of what a university should be is
under the microscope. Experts ponder how much they can use computer instead of
classrooms, talk of the need for lifelong learning and refer to students as “consumers”.

The Confederation of British Industry, the key employers’ organization, wants even
more expansion in higher education to help fight competition on world markets from
booming Asian economies. But the government has doubts about more expansion. The
Times newspaper agrees, complaining that quality has suffered as student numbers
soared, with close tutorial supervision giving way to “mass production methods more
typical of European universities”.

( )51. The chief concern of British universities is
A) how to tackle their present financial difficulty

B) how to improve their educational technology
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C) how to expand the enrollment to meet the needs of enterprises

D) how to put an end to the current tendency of quality deterioration
( )52. We can learn from the passage that in Britain

A) higher education is provided free of charge

B) universities are mainly funded by businesses

C) the government pays dearly for its financial policy

D) students are ready to accept loan schemes for tuition

( )53. What was the percentage of high school graduates admitted to universities in
Britain thirty years ago &
A) about 15% B) 20% or so C) below 10% D) above 30%

( )54. Tt can be inferred from the passage that

A) British employers demand an expansion in enrollment at the expense of
quality

B) the best way out for British universities is to follow their European
counterparts

C) the British government will be forced to increase its spending on higher
education

D) British students will probably have to increase its spending on higher
education

( )55. Which of the following is the viewpoint of The Times newspaper?

A) British universities should expand their enrollment to meet the needs of
industry.

B) Expansion in enrollment is bound to affect the quality of British higher
education.

C) British universities should help fight competition on world markets.

D) European universities can better meet the needs of the modern world.

Passage Four
Questions 56 to 60 are based on the following passage.

Why do students cut classes so frequently? I can cite the immediate causes, but I first
want to note that they can cut because they are allowed to. They cut because of the climate
of acceptance that comes from our belief that responsibility can be developed only when
one is free, free even to act against personal best interests. That that is a misapplied belief
in this case can be easily demonstrated. When substantial numbers of students do not
attend, classroom learning is depreciated (JiZ{f%), student and teacher morale suffers, and
academic standards are compromised. Students who miss classes unnecessarily are hurting
more than themselves. They are undermining what colleges and universities are all about.

Students cut for two general reasons. They have things to do that appear more
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important than the class, or they wish to avoid what they fear will be painful consequences
if they attend. In regard to the first, nursing an illness or attending family weddings are
good excuses for missing a class. But other excuses—the demands of outside jobs, social
engagements (including recovering from the night before), completing assignments for
other courses—are, at best, questionable.

The other general reason is more disturbing and perhaps less well recognized. A few
years ago, | asked several classes what they most disliked about the way courses were
taught, and the answer was plain—anything that produced sustained tension or anxiety. I
believe cutting is often a result of that aversion. The response of students to feelings of
personal inadequacy., fear of humiliation, or a threatening professorial personality or
teaching style is often simply to avoid class. This response feeds on itself, as frequent
absences make attending even more threatening,

But what accounts for frequent cutting where the teacher tries to make the material
interesting, knows the students by name, and approaches them with respect and help? I
accept that questions as unanswerable. 1 simply tell my students: Attend my classes
regularly or drop the course. That’s the rule,

( )56. The word “that” (Line 4, Para. 1) refers to
A) teachers’ tolerance of the students who rarely show up in the classroom
B) the belief that freedom is essential in cultivating a sense of responsibility
C) the immediate causes of the students’ absence from classes
D) the author’s belief that students are permitted to cut classes
( )57. Why do university students so often miss classes?
A) They are advised to rest until they recover from their illnesses.
B) They want to avoid painful feelings brought by the professors.
C) The inadequate allowances they get force them to take part-time jobs.

D) They think the teaching qualifications of the professors are open to

question,
( )58. The word “aversion” (Line 4, Para. 3) means ”
A) response B) plainness C) excuse D) dislike

( )59. What is the result of the students’ frequent cutting?
A) They are likely to avoid more classes.
B) They are involved in more social activities.
C) They have to lower their academic standards.
D) They attach less importance to classroom learning.

( )60. What is the author’s attitude towards students who often cut classes?
A) Negative. B) Regretful. C) Indifferent. D) Cautious.



Part IV Translation (20% 30 minutes)

Seétion A

Directions: Read the following passage carefully. Then translate it into Chinese.

Capital punishment is not a pleasant topic. However, one does not have to like the
death penalty in order to support it any more than one must like radical surgery and-
radiation in order to find necessary these attempts at curing cancer. Ultimately we may
learn how to cure cancer with a simple pill. Unfortunately that day has not yet arrived.
Today we are faced with the choice of letting the cancer spread or trying to cure it with the
methods available, methods that one day will almost certainly be considered cruel. But to
give up and do nothing would be far more cruel and would certainly delay the discovery of
an eventual cure. The analogy between cancer and murder is imperfect, because murder is
not the “disease” we are trying to cure. The disease is injustice. We may not like the death
penalty, but it must be available to punish crimes of cold-blooded murder, cases in which
any other form of punishment would be inadequate and, therefore, unjust. If we create a
society in which injustice is not tolerated, incidents of murder—the most flagrant form of

injustice—will diminish.

Seétion B

Directions: Read the following passage carefully. Then translate it into English.

FEBTPAT SR FILE A  BUR -5 o AAT b —AF , X SE B R AU F- 2 % BN KT
HMBHARLEE FEEIRAREANHEL  RT R TRENE S T ERBIRKIRIT N,
R T AR A ARF 2

ABMREEAENTA N 2 THA B S KR 4 iR A L. EMITEXR, XS 55
SIS BAARR . “HATXANBUL, 5 EARF—ME 4 T2 RATREA %"
X5 2R A P L T L A 61



